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CHAPTER 6 Applications of Integration

REVIEW EXERC

Area T

aphs of the equations, and determine the area of the

region..

l.yﬁ—li,y=0,x=1,x:5 2.y=—1§,y=4,x=5
P x

3.y=71——,y:0,x=—1,x=1
x4+ 1

4.x=y2—2y,x=—1,y=0

5, y=xy=x

6. x=y+lLx=y+3

7.y:e",y=ez,x=0

§.y=cscx, ¥y~ 2 (one region)

B

9, y=sinx =cosx£<x<§£.
Y Y !

-3

o

1 =«
= == —= < —
10 x =cosy, X 53 =y = 3

In Exercises 11-'14.,'use a graphing utility to graph the _regiqﬁ
bounded by the graphs of the functions, and use the integration

capabilities of the graphing utility to find the area of the region.

11.y=x2—8x+3,y=3+8xfx-2

12. y= 2_4x 43, y=2,x=0
13, \/;+\/§=1,y=0,:x.=0
14..y=3¢""~2x2,y:2):2

use vertical and horizontal representative
integrals for finding the area of the region
hs of the equations. Find the area of the
e two integrals.

In Exercises 15-18,
rectangles to set up
bounded by the grap
region by evaluating the easier of th

19, Think About It A person has twa job offers. The starting
salary for each is $30,000, and after 10 years of service each
‘will pay $56,000. The salary increases for each offer are shown
in the figure, From a strictly monetary viewpoint, which is the

better offer? Explain.
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ISES FOR CHAPTER 6

n Exercises 1-10, sketch the region bounded by % 20.

1é shows the annual service revenue R,
the cellular telephone industry for the
Cellular Telecommunications

Modeling Data The tab
in billions of dollars for
years 1992 through 1998. (Source:
Industry Association)

(a) Use the regression capabilities of a graphing utilify to fit an
ntial model to the data. Let ¢ be time in years, with

gxpone
¢+ = 2 corresponding to 1002, Use the graphing utilify to
plot the data and graph the model.

(b) A financial consultant believes that a model for service

revenue for the years 2000 through 2003 is
R, = 10 + 528" '

What is the difference in total service rev
two models for the years 2000 through 20057

enue between thy

nd the volume of the solid léén

In Exercises 21-28, i
' ded by the equation

erated by revelving the plane region boun
about the indicated lines.

21.y=x,y=0,x=4" _
{(a) the x-axis (b) the y-axis

{c) the linex = 4 (d) thelinex = 6
y=Ji y=2%x =0

(a) the x-axis (b). the line y = 2
(c) the y-axis (d) theline x = -1

22.

2P .
23. 1 + S =1 (a) the y-axis (oblate spheroid)
(b) the x-axis (prolate spheroid)
2 2
24, %5 + %5 =1 (a) the y-axis {oblate spheroid)
(b) the x-axis (prolate spheroid)
1

25-y='x4+1,y=0,x=0, x=1

revolved about ihe y-axis

' 1

26. = B =
YT xR Y
revolved about the x-axis

27,y =1/(1+ Jx =2 y=0,x:2,x=6

revolved about the y-axis

y=e”‘,y='0,x=0,x=1

revolved about the x-axis

0,x=—1,x:1

28.

In Exercises 29 and 30, consider the region bounded }

graphs of the equations y = X/ Y 1landy=0.
29, Area Pind the area of the fegion.

30. Velume Find the volume of the sokid generated by
the region about (a) the x-axis and (b) the y-axis.




